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Wa-wb.m :

initial beginTop = 3'b001; #2Top = 3'b011; end
initial

begin
Top = 3'b001;
#2 Top = 3'b011;
end

3.4
$
0
0
$display ("Hi, you have reached LT today");
/* $display */
$tinme
11
10
3.5

) Verilog
e “define, “undef
e “ifdef, “else, “endif
e “default_nettype
« “include

e “resetall

e “timescale

e “unconnected_drive, “nounconnected_drive
e “celldefine, “endcelldefine

3.5.1 ‘define ‘undef

“define C
“define MAX_BUS_SIZE 32

#define

reg [ “MAX_BUS_SIZE - 1:0 ] AddReg;
“define
“define MAX_BUS SIZE
“undef
“define WORD 16 //
wire [ "WORD : 1] Bus;
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“undef WORD
/1 “undef , WORD

3.5.2 ‘ifdef ‘else ‘endif

“ifdef WINDOWS

parameter WORD_SIZE = 16
‘el se

paramet er WORD_SIZE = 32
“endif

WINDOWS
“else “ifdef

3.5.3 ‘default_nettype

“default_nettype wand

3.5.4 “include

‘include

“include " . . [/ . . [primtives.v

“

..Iprimitives.v”

3.5.5 ‘resetall

“resetal

3.5.6 ‘timescale

Verilog HDL “timescale
“timescale

“tinmescal e time_unit / time_precision

time_unit  time_precision 1 10 100 s ms us ns ps fs
“tinescal e 1ns/100ps

1ns, 100ps ‘“timescale
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“tinmescale 1ns/ 100ps
nmodul e AndFunc (Z, A, B);

out put Z;
i nput A, B;
and # (5.22, 6.17 )Al (Z,
11
endnodul e
ns
5.2 ns, 6.17 6.2 ns

“tinmescale 10ns/1ns
5.22 52ns, 6.17 62ns
“timescale

“timescale ‘resetall

“timescale 1ns/ 100ps
nmodul e AndFunc (Z, A, B);
out put Z;
i nput A, B;

and # (5.22, 6.17 )Al (Z,
endnodul e

“tinmescale 10ns/ 1ns

nodul e TB;
reg PutA, PutB
wire Geto;
initial
begin
PutA = 0;
PutB = 0;

#5.21 PutB = 1;
#10.4 PutA = 1;
#15 PutB = O;

end
AndFunc AF1(GetO, PutA, Putp;
endnodul e
“timescale
5.22 5.2ns, 6.17 6.2 ns;
52 ns, 10.4 104 ns, 15 150 ns B
100 ps B
520+100 ps 104 1040+100 ps 150 1500+ 100 ps
AndFunc B AddFunc

“timescale

A, B);

1/10 ns 100 ps
“timescale

A, B);

“timescale

5.22

“timescale

5.21

52 ns
100 ps
B
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3.5.7 ‘“unconnected_drive “nounconnected_drive

“unconnected_drive pulll

/*
“nounconnected_drive

“unconnected_drive pullO

/*
“nounconnect ed_drive

3.5.8 ‘celldefine “endcelldefine
“cel |l define
nodul e FD1S3AX (D, CK, 7 ;

endnodul e

“endcel | defi ne
PLI
3.6
Verilog HDL
no o«
2) 1 1 13 ”
3) x
4) z
0
13 ZH
Ox1z 0X1Z
Verilog HDL
1)
2)
3)

3.6.1

Verilog HDL

*/

*/
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2)
1.
13 +” 13 ”
32 32
15 15
32 5
10000 6 110001 15 5 10001 6

110001
2.
[size ] 'base value

size base o O b B d D
h H value base X z
a f
5' 037 5
4' D2 4
4' B1x_01 4
7' Hx 7 x( X), XXXXXXX
4' hz 4z( z) , zz727
4'd-4
8'h 2 A ,
3'b001 D b
(2+3)"' blo
X Z 4 X z 3 X z
1 x z
‘o721 9
' hAF 8
0
X Z X Z
10' b10 0 , 0000000010
10' bx0Ox1 X , XXXXXXX0x1
3'b1001_0011 3'b011
5 HOFFF  5' HLF
z Z 8

3.6.2
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1)

2.0

5.678

11572.12

0.1

2. Il 1

2)
23_5. 1e2 23510. 0;

3. 6E2 360.0¢ E )
5E 4 0. 0005

Verilog

42.446  42.45 42

92.5, 92.699 93
15. 62 16
26. 22 26

3.6.3

"1 NTERNAL ERROR"
"REACHED >HERE"

8 ASCII 8 ASCII

“ INTERNAL ERROR” 8*14
reg [1 : 8*14] Message;

Message = "I NTERNAL ERROR"

()
\'n
\t
\\ \
| "
\ 206 206
3.7
Verilog HDL
1) net type Verilog
z
2 register type aways initial

X

3.7.1
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e wire

o tri

* Wor

e trior

» wand

e triand

* trireg

e tril
 tri0

* supplyO
* supplyl

net_kind [msb: Isb] netl, net2 . . . , netN;
net_kind msb Isb

wire Rdy, Start /112 1
wand [2:0] Addr; //Addr 3

wor Rde;

assign Rde = BIt & Wyl;

assi gn Rde Kbl | Kip;
Rde Rde
(wor)
1. wire tri

(tri)

Wi re Reset;
wire [3:2] Cla, Pla, Sla
tri [ MSB 1 : LSB +1] Art;

wire(  tri)

N X

o x x o]l o
X B X
X X X X
N X b O

assign Cla Pla & Sla;

assign Cla = Pla * Slg;
Cla
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Cla Cla
01x, 11z Cla x1x ( 01
X, 11 1 X)
2. wor trior
1 (trior)
wor [ MSB: LSB] Art;
trior [MAX 1: MIN 1] Rdx, Sdx, Bdx
wor ( trior) 0 1 X z
0 0 1 X 0
1 1 1 1 1
X X 1 X X
z 0 1 X z
3.wand triand
(wand) 0 0 (triand)
wand [-7 : 0] Dbus;
triand Reset, CIlk
wand ( triand) 0 1 X z
0 0 0 0 0
1 0 1 X 1
X 0 X X X
z 0 1 X z
4. trireg
(trireg)
V4
X
trireg [1:8] Dbus, Abus
5.tri0 tril
trio  tril
0 tril 1
trio [ 3:3] GndBus;
tril [0: 5] OtBus, ItBus
trio tril
trio (tril) 0 1 X z
0 0 X X 0
1 X 1 X 1
X X X X X
z 0 1 X 0(2)
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6. supply0 supplyl
supplyO o 0 supplyl
suppl y0 Gnd, Cl kGnd;
supplyl [2: 0] Vcc;
3.7.2
Verilog HDL
“default_nettype
“default_nettype net_kind
“default_nettype wand
1
3.7.3
scalared vectored
vectored,
wire vectored[3:1] Grb;
/1 Grb[ 2] Grb [3:2]
wor scal ared[4:0] Best;
/'l wor [4:0] Best Best [ 2] Best [ 3:1]
3.74
5
° reg
e integer
o time
*red
* realtime
1. reg
reg reg reg
reg [ msb: Isb] regl, reg2 . . . regN;
msb Isb
1
reg [3:0] Sat; /$at 4
reg Cnt; /11

reg [1:32] Kisp, Pisp, Lisp

reg [1:4] Comb;
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Comb

= 2; |/ Comb 14 1110 1110 2
Comb = 5; | IComb 15 0101
2.

reg [ msb: 1sb] memoryl [ upperl: lowerl],
memory2 [upper2: lower2?], ... O

reg [0:3 ] MyMem [O0:63]
/I MyMem 64 4

reg Bog [1:5]
//Bog 5 1

MyMem Bog 2

parameter ADDR_SIZE = 16 , WORD_SIZE = 8;
reg [1: WORD_SIZE] RamPar [ ADDR_SIZE 1 : 0], DataReg;

RamPar 16 8 DataReg 8

reg [1:5] Dig; //Dig 5

Dig = 5'b11011;

reg BOg[1:5]; /MBog 5 1
Bog = 5'b11011;
reg [0:3] Xrom [1:4]

.X;om[ 1]

= 4' hA;
Xrom[ 2] = 4'h8;
Xrom[ 3] = 4' hF;
Xrom[ 4] = 4' h2;

1) $readmemb
2) $readmemb

reg [1:4] RomB [7:1] ;
$ readmenb (“ram patt", RomB);

Romb “ ram.patt”

1101
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1110
1000
0111
0000
1001
0011

$readmemb 7 Romb

$readmemb
$readmenb ("ram patt", RomB, 5, 3);

Romb[5],Romb[4] Romb[3]
1101 1100 1000

@ex_address value

@ 11001
@ 11010

$readmenb ("rom patt", RomB, 6);
/1 6 1

$readnmenb ( "rom patt",RomB, 6, 4);
/1 6 4
3. Integer
integer integerl, integer2. intergerN[ msb: 1sb]
msb Isb
32

integer A, B, C; [/
integer Hist [3:6]; [/

reg

reg [31:0] Breg;
i nteger Bint;

//Bint[6] Bint[20: 10]

Breg = Bint;

/% Breg[ 6] Breg[ 20: 10] Bint

B[6] B[20:10]

*/
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integer J;
reg [3:0] Bcq;

J = 6; /13 32' b0000. .. 00110

Bcq = J; /1 Bcq 4' b0110

Bcq = 4'b0101.

J = Bcg; /0 32' b0000. .. 00101

J = 6; /0 32' b1111...11010

Bcq = J; / Bcq 4' b1010

2

4. time

time time

time time_idl, time_id2. . ., time_idN [ msb: 1sb];
msb Isb 64

time Events [0:31]; [/

time CurrTime; / ICurrTime

5.real realtime

I

real real_regl, real_reg2,.. ., real_regN;

I

realtime realtime_regl, realtime_reg2,..., realtime_regN;
realtime real

real Swing, Top
realtime CurrTime;

real 0 real

X z real 0
real RamCnt;

RamCnt = ' b01x1Z;
RamCnt 'b01010

3.8

paramet er paraml = const_exprl, param2 = const_expr2, ...,

paramN = const_exprN,;

paramet er LINELENGTH = 132, ALL_X_S = 16' bx;
paranmeter BIT = 1, BYTE = 8, Pl = 3.14,;
par amet er STROBE_DELAY = ( BYTE + BIT) / 2;
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paranmeter TQ_FILE = " / home/bhasker/ TEST/ add.tq";

COunT, 1_2 Many, \**1, Real?, \wait, Initial

Verilog HDL

a k0D

7' 044, 'Bx0, 5'bx110, 'hAO, 10'd2, 'hzF

6. Qpr
reg [1:8*2] Qpr;

Qpr = "ME' ;

7.
8. Verilog HDL
9.

integer [0:3] Ripple;
10. “ memA .data’ 32x 64
11.
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